

for an action, $\nabla \cdot \vec{E} = 0$, but $[\frac{\partial E^i(x,t)}{\partial x^i}, A^j(x,t)] = -\lambda \delta^{ij} \delta(x-x') \neq 0$

$[\pi^i(x,t), A_j(x,t)] = -[\pi^i(x,t), A^j(x,t)] = -[E^i, A^j] = -\lambda \delta^{ij} \delta(x-x')$

What's wrong? well

$\left\{ \begin{array}{l} [A^i, A^j] = 0 \\ [\pi^i, \pi^j] = 0 \\ [\pi^i, A^j] = 0 \end{array} \right.$ no problem

demand $[\pi^i(x,t), A_j(x,t)] = -\lambda \delta^{ij} \delta(x-x')$ a problem

To quantize: $\int d^3k \rightarrow \sum_k$ no problem
 $a_{\mu} \rightarrow \hat{a}_{\mu}(k)$ no problem

led us to an original quantization in only space A

where $F_{\mu\nu} = \partial_\mu A_\nu - \partial_\nu A_\mu$ and $\pi^\mu(x) = \pi^\nu(x) = \pi^i(x) = -A^i(x) = \partial A^0 = E^i$
 $\pi^0(x) = 0$

$\mathcal{L}(x) = -1/4 F_{\mu\nu} F^{\mu\nu}$ π^i conjugate to A_i

Classically, we found $\pi^i(x) = \frac{\partial \mathcal{L}}{\partial \dot{A}_i}$

Now, we write full circle - leads to the EM field

Consider χ Lorentz gauge, (LG)

$$\frac{\partial A^\mu}{\partial x^\mu} = 0$$

This reduces the number of independent A^μ components from 4 \rightarrow 3. Notice, from

$$A^\mu \rightarrow A'^\mu = A^\mu + \frac{\partial \phi}{\partial x^\mu}$$

now A'^μ also satisfies LG, if $\frac{\partial^2 \phi}{\partial x^\mu \partial x^\mu} = 0$

If ϕ is chosen such that $\frac{\partial^2 \phi}{\partial x^\mu \partial x^\mu} = -\phi$

$$\text{then } A^\mu \rightarrow A'^\mu = A^\mu + \frac{\partial \phi}{\partial x^\mu} \Rightarrow \phi' = 0$$

$$\text{Then, } \frac{\partial A'^\mu}{\partial x^\mu} = \frac{\partial A^\mu}{\partial x^\mu} + \frac{\partial^2 \phi}{\partial x^\mu \partial x^\mu} = 0 \text{ (LG)}$$

"gauge" away

$$\text{Condition in } \Rightarrow \nabla \cdot A' = 0$$

Condition

gauge on c

Special circumstances

So - number of independent components further χ LG

reduced 3 \rightarrow 2.

This is how we get EM fields $\overline{A^\mu}$. So there is some subtraction in using the Lorentz gauge for quantization. * However, it's not convenient, *

In two parts, quantization done this way - first
 take the commutation relations is side a second
 time, $\Delta \rightarrow$

$$- [E^i(x,t), \frac{\partial A^j(x,t)}{\partial x^i}] = -i \delta^{ij} \partial_t \delta(x-x') \neq 0$$

should be 0 in two groups

$$[\Pi^i(x,t), A_j(x',t)] = \left[-i \eta_j^i \int \frac{d^3k}{(2\pi)^3} e^{ik \cdot (x-x')} \right]$$

must be good
 with term

$$\frac{\partial}{\partial x^i} \left[\right] = -i \eta_j^i \int \frac{d^3k}{(2\pi)^3} i k_j e^{ik \cdot (x-x')}$$

which we
 need to be = 0

no, require $\eta_j^i k_i = 0$

which is satisfied by $\eta_j^i = \delta_j^i - \frac{k^i k_j}{k^2}$

$$i.e. \eta_j^i k_i = k_j - \frac{k^i k_j}{k^2} = 0$$

so, define

$$\delta_{tr} \eta_j^i (x-x') \equiv \int \frac{d^3k}{(2\pi)^3} e^{ik \cdot (x-x')} \left(\delta_j^i - \frac{k^i k_j}{k^2} \right)$$

and

$$[\Pi^i(x,t), A_j(x',t)] = -i \delta_{tr} \eta_j^i (x-x')$$

Now, we interpret the Fourier expansion in the standard way.

$$\vec{A}(x) = \int dk \sum_{\lambda=1}^2 \vec{e}_{\lambda}(k) [a_{\lambda}(k) e^{-ikx} + a_{\lambda}^{\dagger}(k) e^{+ikx}]$$

and in this gauge $\vec{\nabla} \cdot \vec{A} = 0 \Rightarrow \vec{k} \cdot \vec{e}_{\lambda} = 0$

→ only the transverse components a_{λ} have been quantized... only the physical degrees of freedom.

Other gauges are sometimes used - the most common is the LC.

Let's postulate that what we want is this:

$$[T_{\mu\nu}(x, t), A_{\nu}(x', t)] = -i g_{\mu\nu} \delta(x - x')$$

So A_0 commutes w/ π_0

since $\pi_0 = 0$ in our K , $[0, A_{\nu}] = 0 = g_{0\nu} \Rightarrow \pi_0 = 0$

in any V , no this

suggests that $V=0$ looks

+ A_0 being a c-number.

So, modify K . (due to Fermi, actually)

need to maintain $\square A_\mu = 0$, the equation is written.

$$\mathcal{L} = -\frac{1}{2} F_{\mu\nu} F_{\mu\nu} - \frac{z}{2} (\partial_\mu A^\mu)^2 \text{ "Gauge-Fixing term"}$$

$$\left. \begin{aligned} \frac{\partial \mathcal{L}}{\partial A^\mu} &= g_{\mu\nu} \frac{\partial A^\nu}{\partial A^\mu} \\ &\Rightarrow -\frac{z}{2} g_{\mu\nu} \frac{\partial A^\nu}{\partial A^\mu} \end{aligned} \right\} (\partial_\mu A^\mu)^2$$

$$\frac{\partial \mathcal{L}}{\partial A^\mu} \left(\frac{\partial A^\mu}{\partial x^\nu} \right) - \frac{\partial \mathcal{L}}{\partial x^\nu} = 0$$

now derive + $\partial_\mu A^\mu = 0$

$$\frac{\partial \mathcal{L}}{\partial x^\nu} = F_{\mu\nu} - g_{\mu\nu} \partial_\mu A^\mu$$

$$\frac{\partial}{\partial x^\nu} (F_{\mu\nu} - g_{\mu\nu} \partial_\mu A^\mu) = \frac{\partial}{\partial x^\nu} (g_{\mu\nu} \partial_\mu A^\mu - g_{\mu\nu} \partial_\mu \frac{\partial A^\mu}{\partial x^\nu})$$

$$\begin{aligned} \square A_\mu &= 0 \\ &= \square A_\mu - \frac{\partial^2 A_\nu}{\partial x^\nu \partial x^\mu} - \frac{\partial^2 A^\mu}{\partial x^\nu \partial x^\nu} \\ &= \square A_\mu - \frac{\partial^2 A_\nu}{\partial x^\nu \partial x^\mu} + \frac{\partial^2 A^\mu}{\partial x^\nu \partial x^\nu} \end{aligned}$$

The extra term is called the Gauge Fixing term -
 since this term is made - gauge

like a Lagrange multiplier - a constraint

$$\beta(x) = -\frac{1}{2} F_{\mu\nu} F^{\mu\nu} - \frac{\lambda}{2} (a_{\mu\nu})^2$$

wt equation of motion:

$$\square A^\nu - (1-\lambda) \partial^\nu (a_{\mu\nu}) = 0 \quad (\text{wt Maxwellism})$$

- $\lambda = 1$ "Feynman Gauge" ("Feynman gauge")
- $= 0$ "Landau Gauge"

$$\frac{\delta \pi^{\mu\nu}}{\delta x^\alpha} = F^{\mu\nu} = \frac{\delta}{\delta x^\alpha} \left(\frac{1}{2} (a_{\mu\nu})^2 \right) \frac{\delta}{\delta x^\alpha} (a_{\mu\nu})^2$$

$$= F^{\mu\nu} - \partial_\alpha A^\nu g^{\mu\alpha}$$

$$\pi^0 = F_{0\alpha} - \partial_\alpha A^0 = -\partial_\alpha A^0$$

But, this is spec in the L.G. The way out will be -

~~g must be to look for the L.G. and that's the way to a statement about the structure.~~

$\langle \psi | a_{\mu\nu} | \psi \rangle = 0$ → L.G. and
 Maxwell's eq
 SM hold in a
 classical limit.
 need station.

classical vector field

$$\partial_\mu A^\nu = 0$$

x worked for

show - equation, not strong

$$h^M = (h, 0, 0, h)$$

Pressure moment along z axis -

How do they look?

$$\sum_x \int_x E_n^{(x)} E_v^{(x)} = -g_{nn}$$

Completion:

$$= g_{xx} = -\int_x \delta_{xx} \text{ where } \int_0 = -1$$

$$\int_x = +1$$

$$= E_{(x)0} E_{(x)0} - \vec{E}_{(x)} \cdot \vec{E}_{(x)} \text{ and demand}$$

$$= E_{(x)\mu} g^{\mu\nu} E_{(x)\nu}$$

$$E_{(x)} \cdot E_{(x)} = E_{(x)\mu} \cdot E_{(x)}^{\mu}$$

orthonormality:

$$E_{(x)}^{\mu} = \text{spacelike vector}$$

$$E_{(0)}^{\mu} = \text{timelike vector}$$

convention:

$\frac{1}{\sqrt{11}}$

$$A_{\mu}(x) = \int DK \sum_{\lambda=0}^3 E_{\mu(\lambda)}(h) [a_{\lambda}(h) e^{-ihx} + a_{\lambda}^{\dagger}(h) e^{ihx}] *$$

So, now we deal with a covariant expansion.

and we can define

$$\begin{aligned}
 \epsilon_{(0)} &= (1, 0, 0, 0) & \epsilon_{(1)} &= (0, 1, 0, 0) & \epsilon_{(2)} &= (0, 0, 1, 0) \\
 & \text{scalar or multiple matrix} & & \text{diagonal matrix} & & \\
 \epsilon_{(3)} &= (0, 0, 0, 1) & & & & \\
 & \text{unghat matrix} & & & &
 \end{aligned}$$

The commutation relations for ϵ 's we can write as -

$$\pi_{\mu} = \frac{\partial \mathcal{L}}{\partial \dot{x}^{\mu}} = p_{\mu 0} - q_{\mu 0} \left(\frac{\partial \mathcal{V}}{\partial x^{\nu}} \right)$$

go back

$$\text{or } \pi^0 = p_{00} - q_{00} \left(\frac{\partial \mathcal{V}}{\partial x^0} \right) = 0 - \frac{\partial \mathcal{V}}{\partial x^0} + \nabla \cdot \vec{A} = -\partial_0 A^{\mu}$$

$$\pi^i = p_{i0} - 0 = \frac{\partial \mathcal{L}}{\partial \dot{x}^i} - \frac{\partial \mathcal{V}}{\partial x^i}$$

$$\text{so want } [A_{\mu}(x,t), \pi_{\nu}(x,t)] = \delta_{\mu\nu} \delta^3(x-x')$$

$$\text{from } [A_{\mu}(x,t), A_{\nu}(x',t)] = 0$$

$$\frac{\partial}{\partial x^i} \rightarrow [A_{\mu}(x,t), A_{\nu}(x',t)] = 0$$

→ spatial derivatives commute at equal time. ✓

So, from

$$[A_{\mu}(x,t), \pi_{\nu}(x',t)] = \delta_{\mu\nu} \delta^3(x-x')$$

only the time derivatives of inside π won't

commute, so

$$[A_{\mu}(x,t), \dot{A}_{\nu}(x',t)] = -\delta_{\mu\nu} \delta^3(x-x')$$

→ negative!

fn 2 true-like proton state + norm
 " 3 - norm

$$= - \int DK |f_n|^2 \rightarrow \text{a negative norm!}$$

$$= - \int DK \int DK' f_n f_n^* \delta(k-k') \langle 0|0 \rangle$$

$$= \int DK \int DK' f_n f_n^* \langle 0| -2k_0 (2\pi)^3 \delta(k-k') |0 \rangle$$

Use commutation relations -

$$\langle k^{(0)} | k^{(0)} \rangle = \int DK \int DK' f_n f_n^* \langle 0| a_{(0)}(k) a_{(0)}^+(k) |0 \rangle$$

find the norm

$$|k^{(0)} \rangle = \int DK f_n(x) a_{(0)}^+(k) |0 \rangle$$

consider a free Dirac 1 proton state,
 states

negative sign to problem etc

$$[a_{(1)}(k), a_{(1)}^+(k')] = -g_{\mu\nu} 2k_0 (2\pi)^3 \delta(k-k')$$

...

substitute the expressions for A_μ and A_ν -

to odd result to anyway.

$$N_{(0)}(h) = -a_{+}^{(0)}(h) a_{(0)}(h)$$

in that the free-like photon contribution to the energy is negative.

The way out is to demand a weakened "condition"

$$a_{\pm}^{(+)n} | \psi \rangle = 0 \quad (\text{already satisfied in the vacuum})$$

Since then in $\langle \psi | a_{\pm}^{(+)n} | \psi \rangle = 0$ ✓

$$\langle \psi | a_{\pm}^{(+n)} + a_{\pm}^{(-n)} | \psi \rangle = 0$$

$$\langle \psi | a_{\pm}^{(-n)} | \psi \rangle = \langle \psi | a_{\pm}^{(+n)} | \psi \rangle = 0$$

Called Gupta-Bleuler quantization - 1950.

G.B.

put expression in $A_{\pm}(x)$ with condition above, from δ

$$\sum_3^{\infty} L_n \in (x) / a_{\pm}(h) | \psi \rangle = 0$$

need to make two systems



for γ in k_3 direction, for example,

$$k^m = (k, 0, 0, k) \rightarrow \omega = k \cdot \epsilon^{(1,2)} = 0$$

we get for G.B. condition:

$$[k^m \epsilon^{(0)\mu} a_{(0)}(k) + k^m \epsilon^{(3)\mu} a_{(3)}(k)] \cdot |\psi\rangle = 0$$

from the definition of ϵ_0 and ϵ_3 ,

$$k^m \epsilon^{(0)\mu} = -k^m \epsilon^{(3)\mu} \quad \forall \mu$$

$$k^m \epsilon^{(0)\mu} [a_{(0)}(k) - a_{(3)}(k)] \cdot |\psi\rangle = 0$$

$$\forall \mu \quad (a_{(0)}(k) - a_{(3)}(k)) \cdot |\psi\rangle = 0$$

seen as a constraint on the physical admissible states.

Physical states will be admittances of those 2 no
 that no constraint holds. \rightarrow there are no 1 particle
 physical states of only three like photons

What does this mean practically -

The Hamiltonian can be constructed in the standard fashion to be,

$$H = \sum_{k=0}^{\infty} \int dx \, a_{+}^{(k)}(x) a_{-}^{(k)}(x) \hbar \omega_k$$

Even though $\int_0 = -1$ - no energy so positive definite

ie
$$\int dx \, \hbar \omega_k \left\{ a_{+}^{(k)}(x) a_{-}^{(k)}(x) - a_{-}^{(k)}(x) a_{+}^{(k)}(x) \right\}$$

What about $\langle \psi | H | \psi \rangle$?

$$= \langle \psi | \int dx \, \hbar \omega_k \left\{ \sum_{k=1}^{\infty} a_{+}^{(k)}(x) a_{-}^{(k)}(x) + a_{-}^{(k)}(x) a_{+}^{(k)}(x) - a_{+}^{(0)}(x) a_{-}^{(0)}(x) \right\} | \psi \rangle$$

The subsidiary condition says

$$a_{-}^{(0)}(x) | \psi \rangle = a_{+}^{(0)}(x) | \psi \rangle$$

It's adjoint says
$$\langle \psi | a_{+}^{(0)}(x) = \langle \psi | a_{-}^{(0)}(x)$$

$$\langle \psi | a_{+}^{(0)}(x) a_{-}^{(0)}(x) | \psi \rangle = \langle \psi | a_{-}^{(0)}(x) a_{+}^{(0)}(x) | \psi \rangle$$

$$= \langle \psi | a_{+}^{(0)}(x) a_{-}^{(0)}(x) | \psi \rangle$$

conceals

$$\langle \psi | H | \psi \rangle = \langle \psi | \int dx \, \hbar \omega_k \left\{ \sum_{k=1}^{\infty} a_{+}^{(k)}(x) a_{-}^{(k)}(x) \right\} | \psi \rangle$$

→ only the physical states contribute: 2 dof

A word about massive spin-1 fields--

In your program set you'll find that in

spin-1 massive fields, B_μ , that $\frac{\partial B_\mu}{\partial x^\nu} = 0$

THIS IS NOT A GAUGE CONDITION - only a constraint

which comes from the equation of motion - Proca Equation

An expansion of the SFT

$$B_\mu = \int \frac{d^3k}{(2\pi)^3} \left[\epsilon_{(\lambda)\mu}^{(+)}(k) a_{\lambda}(k) e^{-ik \cdot x} + \epsilon_{(\lambda)\mu}^{(-)}(k) a_{\lambda}^{\dagger}(k) e^{ik \cdot x} \right]$$

Ad

The constraint $\Rightarrow k \cdot \epsilon^{(\lambda)} = 0$ 4 components $\rightarrow 3$

From $K = -\frac{1}{2} F_{\mu\nu} F^{\mu\nu} + \frac{1}{2} M^2 B_\mu B^\mu$

we set $\pi^\mu = \frac{\partial K}{\partial \dot{B}_\mu} = \dot{B}^\mu - B^\mu$

now using $\partial^\mu B_\mu = 0 \Rightarrow$ we can eliminate $B \rightarrow B^0$

po. $\pi^i = -\dot{B}^i$

and

$$[B^i(x,t), \pi_j(x',t)] = i \delta^i_j \delta^3(x-x')$$

because,

$$[B_i(x,t), B_j(x',t)] = i g_{ij} \delta^3(x-x')$$

∴ expansion substituted,

$$[a^{(1)}(k), a^{(2)}(k')] = \delta_{k+k'} \sum_{\alpha} \beta_{\alpha}^2 \delta_{\alpha}(k-k')$$

no negative sign. → all is good however
 π_{μ} is different.

Polarization tensor is different.

In the rest frame $k \cdot \epsilon = 0$ is satisfied by

$$k^{\mu} = (M, 0, 0, 0)$$

$$\epsilon_{\mu}^{(1)} = (0, 1, 0, 0)$$

$$\epsilon_{\mu}^{(2)} = (0, 0, 1, 0)$$

$$\epsilon_{\mu}^{(3)} = (0, 0, 0, 1)$$

usually

$$\vec{\epsilon}_{(1)} = \frac{1}{\sqrt{2}} (1, i, 0)$$

$$\vec{\epsilon}_{(2)} = \frac{1}{\sqrt{2}} (1, -i, 0)$$

correct longitudinal, but

$$\epsilon_{\mu}^{(3)} \equiv (0, 0, 0, 1)$$

$$k \cdot \epsilon = 0 = k^0 \epsilon_0 + \sum_i k^i \epsilon_i$$

rest frame: define $\epsilon_0 = 0 \Rightarrow k^0 \epsilon = M \epsilon = \sum_i (k^i) \epsilon_i = 0$

Boost along z-direction: $k \rightarrow k^{\mu} = (E, 0, 0, k^z)$

$\mu \in \{$

$$\epsilon_{\mu}^{(3)}(k_{rest}) = (0, \vec{\epsilon}^{(3)})$$

→ Boost 3

$$\epsilon_{\mu}^{(3)}(k) = \epsilon_{\mu}^{(3)}(k_{rest}) = (0, \vec{\epsilon}^{(3)})$$

What about $\lambda = 0$?

$$k_1 \epsilon^{(0)} = E \epsilon^{(0)} - k^2 \epsilon^{(0)} = 0$$

Construct:

$$\epsilon^{(0)} = (k^2/M, 0, 0, E/M) = (r^2, 0, 0, r)$$

Then:

$$k \cdot \epsilon^{(0)} = E (k^2/M) - k^2 (E/M) = 0$$

So, we summarize

$$\epsilon^{(\pm)} = \pm (0, 1, \pm k, 0) \quad \text{transverse}$$

$$\epsilon^{(0)} = (r^2, 0, 0, r) \quad \text{longitudinal}$$

Both necessary for real spin 1 massive.